12V, Theregion R is bounded by the curve ¥ = 3x+ L%

=X, thex-nxis and the linesx=1,x= 3. Find the
area of A. & [3]
June 2010
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The diagram shows a sketch of the curve y = 25 ~ x? and the Bne y = ~2x + 17.
The Iine and the curve intersect af the points 4 and B.
(i} Findihe coordinates of 4 and B. 4]
(i) Find the area of the shaded region. 7
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The diagram shows a sketch of the curve p = x> —4x + 6 and the ne p = —x + 10
The curve and the line Intersect at the points £ and B.

(i} Showing your working, find the coordinates of 4 and E.
(i) Find the arez of the shaded region.
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& J June 2011



¢
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The d.iagram shows a sketch of the curve ¥y = 4 — x2,
The curve intersects the x-axis at the points 4 and B. The point Chas coordinates 50
The point D Hes on the curve and CD is parallel to the p-axis,

{1) Showing your working, find the x-coordinates of the points 4 and B. [2]
(i)  Find the tof2] area of the shaded regions. ' [6]
Jan 2012
125, (b) ¥

The diagram shows a sketch of the curve ¥ =36-xand the fine ¥ = 5x, The curve and
the line intersect at the point 4 in the first quadrant and the curve intersects the positive
x-axis at the point 5.

(@) Showing your working, find the coordinates of 4 and the coordinates of 5.

(i} Find the area of the shaded recion. i [1%]
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